Sections 4.1 - 4.4 1.C.E Name:

vey

NO CALCULATOR! The quiz will also be ENTIRELY withouta calculator!: .. - -

For #1-4, sketch the angle in standard position. Find one positive and one negative coterminal

angle:
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5} Find the exact values of the six trig functions of the angle 8 shown in the figure:
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6) Use the given function value and trig identity to find the indicated trig functions:
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a) sinf= "T_;' b) cosO= “@3 ¢) secO= = ~ ’B—% d) tanf= \K;
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7}  Find the EXACT values of the six trig functions of the angle 6 (in standard position) whose
terminal side passes through the point (3,-4)
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sinf= < cosB= <
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tanb= % cotf= ™ 'Z;

sech= = csch= =
% /

8) Complete the following chart.

Write undefined where appropriate- it IS a possible answer:

0 sinB coso tan@ cscO secO cot@

(1)

o | 0 | 0 undef (

90° | 9 umeifg ( W@@eg 0 (_—:37) W)

180° 0 | -\ 9 mdd | -V | wndyf -
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9)  Find the five remaining trig functions of 9 satisfying the condition:
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10) State which quadrant the terminal side of 0 is in:
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11) Evaluate the following without a calculator! - it may help to draw a picture:
2) sin 495° b \ g0 b) cos (-150)° ' =
——f T
155 ¥S ,
©® G =
¢ =95 N ) 8 .
T Sy .
%m ‘?% 2z j f/f
-5 0(F)= )
Mt i
gin =~
y
- 0
140 G = %o
-1¢2 ==
—_—e - o
Lo ? /S
-
4
D _ =

Precalculus CP 1 4 Page 3 of 5



1
, $» | K .
Sections 4.1 -4.4 |.C.E : é : Name:
12) Find 8 where 0°<6<360° A o
/cf‘ Mw T % ' _L
a) cscB-—-?—;— and sec§>0 b} tane—u—l and sm0>0
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c) cose:——\/zé and 0 is in Quadrant III d) cot9=\/§ and sinB<0
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13) Use trigonometric identities to get the left side of the equation equal to the right side. You are

only allowed to work on ONE side, so do not treat it like an equation

+CosB. =1

csc secH
Gin0 GinG T G50 - (656 = |
Sinty st =1 v

a) sinf-

=) v
b) 2tang- Sine——»—i-—o
cos@ cot@
S han@ ~Ting ~TonG =
0 ~o v
¢) sin*x—cos’x=2sin’x-1 {_ng.-z“%'f’l [—%in ©X
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d) sm9+c?59
cos8 sinb

=cscOsecH
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